

Subject:

Year: Month: Day: ()

190

Page: ()

9. $f: A \rightarrow B$ by $f(x) = \frac{x}{x+1}$

$$\begin{cases} \cot \frac{\pi x}{4} & x \leq 1 \\ \sqrt{x^2+1} & x > 1 \end{cases} \rightarrow f(f(\frac{r}{r})) = f(\frac{r}{r}) = r \Rightarrow f \circ f(\frac{r}{r}) = r$$

$$\cot \frac{\pi}{4} = \sqrt{r}$$

$$f(r) = \sqrt{r} = r$$

$$f(\frac{1}{x}) = \sqrt{\frac{r x - 1}{x^2}}, g(x) = r \cos^2 x$$

$$f \circ g(\frac{\pi}{r})$$

$$f(g(\frac{\pi}{r})) = f(\frac{1}{r}) = \frac{\sqrt{r}}{r}$$

$$g(x) = r \cos^2 x \rightarrow g(\frac{\pi}{r}) = r(\frac{1}{r})^2 = \frac{1}{r}$$

$$\sqrt{\frac{r x - 1}{x^2}} \rightarrow \frac{1}{x} = \frac{1}{r} \rightarrow x = r \rightarrow \sqrt{\frac{r}{r}} = \frac{\sqrt{r}}{r}$$

10

$$f(x) = [x] \quad g(x) = \frac{x}{1-x} \quad f \circ g(\sqrt{r}) = ?$$

$$f(g(\sqrt{r})) = f(-r - \sqrt{r}) = -r$$

$$g(x) = \frac{x}{1-x} \rightarrow \frac{\sqrt{r}}{\sqrt{r}-1} = -r - \sqrt{r} = -(r + \sqrt{r})$$

$$15 \quad f(x) = [x] \Rightarrow f(-r - \sqrt{r}) = [-r - \sqrt{r}] = -r$$

$$f(x) = \sin x \quad g(x) = x \sqrt{1-x^2} \quad g \circ f(\frac{\pi}{2})$$

$$g \circ f(\frac{\pi}{2}) = g(f(\frac{\pi}{2})) = g(\frac{\sqrt{r}}{r}) = \frac{1}{r}$$

$$f(\frac{\pi}{2}) = \sin \frac{\pi}{2} = \frac{\sqrt{r}}{r}$$

$$20 \quad g(\frac{\sqrt{r}}{r}) = \frac{\sqrt{r}}{r} \sqrt{1 - \frac{1}{r}} = \frac{1}{r}$$

$$f(x) = \{(r, \omega), (y, \omega), (\wedge, 1r), (1., 1r)\}$$

$$f \circ g(x) =$$

$$r \rightarrow \omega \rightarrow \omega$$

$$y \rightarrow \omega \rightarrow \omega$$

$$\wedge \rightarrow 1r \rightarrow 1r$$

$$1. \rightarrow 1r \rightarrow 1r$$

$$= \{(r, \omega), (y, \omega), (\wedge, 1r), (1., 1r)\}$$

$$g(x) = \{(r, y), (r, \varepsilon), (y, \wedge), (\wedge, 1.)\}$$

25

$$g \circ f(x) =$$

$$r \rightarrow \omega \rightarrow x$$

$$y \rightarrow \omega \rightarrow x$$

$$\wedge \rightarrow 1r \rightarrow x$$

$$1. \rightarrow 1r \rightarrow x$$

$$= \emptyset$$

$$f \circ f(x) =$$

$$r \rightarrow \omega \rightarrow x$$

$$y \rightarrow \omega \rightarrow x$$

$$\wedge \rightarrow 1r \rightarrow x$$

$$1. \rightarrow 1r \rightarrow x$$

$$= \emptyset$$

$$g \circ g(x) =$$

$$r \rightarrow y \rightarrow \wedge$$

$$y \rightarrow \wedge \rightarrow 1.$$

$$\wedge \rightarrow 1. \rightarrow x$$

$$= \{(r, \wedge), (y, y), (y, 1.)\}$$

30

Subject:

Year: Month: Day: ()

Page: ()

$$f = \{(r, 1), (r, r), (r, a), (1, v)\}$$

$$g = \{(1, r), (r, 1), (a, r), (b, 1)\}$$

$$f \circ g \{(1, 1), (r, v), (a, r), (b, v)\}$$

$$(r, r) = (a, r) \rightarrow a = r$$

$$s \quad (a, b) = (r, a) \quad \checkmark$$

$$(r, b) = (r, a)$$

$$b = a$$

$$f(f(x)) = rx + r \rightarrow g \circ f(-1)$$

$$g(rx + r) = rx - r$$

$$f(ax + b) = arx + ab + b = rx + r$$

$$a^r = r \rightarrow a = \pm r$$

$$ab + b = r \rightarrow a = r$$

$$10 \quad g \circ f(-1) = g(f(-1)) = g(-1) = -1$$

$$g(rx + r) = rx - r$$

$$x = -r$$

$$g(-1) = -1$$

$$f(x) = ax + b \rightarrow rx + 1 \rightarrow f(-1) = -1$$

$$-1x + r \rightarrow f(-1) = -1$$

$$g \circ f(-1) = -1 \quad \checkmark$$

$$wb = r$$

$$b = 1$$

$$a = -r$$

$$b = -r$$

$$15 \quad f(x) = \sqrt{x+|x|}$$

$$g(x) = \frac{1}{x^r - rx} \rightarrow g \circ f$$

$$x + |x| \geq 0 \rightarrow \checkmark$$

$$Df = \mathbb{R}$$

$$\frac{1}{x^r - rx} \Rightarrow x^r - rx \neq 0 \rightarrow x \neq 0, \pm$$

$$x + |x| \neq 0 \rightarrow |x| \neq -x$$

$$x > 0$$

$$x + |x| \neq 14 \rightarrow \frac{0}{x} \neq 14$$

$$Dg \circ f = (0, +\infty) - \{1\}$$

$$(0, 1) \cup (1, +\infty)$$

$$f(x) = \sqrt{1-x^r} \quad g(x) = \sqrt{x} \quad (f \circ g) \circ f$$

$$x \in Df \quad f(x) \in D_{f \circ g}$$

$$[-1, 1] \quad \checkmark \quad \sqrt{1-x^r} \in [0, 1]$$

$$\sqrt{1-x^r} \leq 1 \rightarrow 1-x^r \leq 1$$

$$x^r \geq 0 \quad \checkmark \quad x \in \mathbb{R}$$

$$D_{f \circ g} = Df \cap Dg \Rightarrow [0, 1]$$

$$g(x) = \sqrt{x} \Rightarrow x \geq 0 \rightarrow Dg = [0, +\infty)$$

$$30 \quad f(x) = \sqrt{1-x^r} \Rightarrow 1-x^r \geq 0 \rightarrow (1-x)(1+x) \geq 0$$

$$-1 \leq x \leq 1$$

$$Df \cap Dg = [0, 1]$$

Subject:

Year: Month: Day: ()

Page: ()

$$f\left(\frac{rx+1}{x-r}\right) = rx + a$$

$$\frac{rx+1}{x-r} = t \Rightarrow \frac{rt+1}{t-r} = x$$

$$f(t) = r\left(\frac{rt+1}{t-r}\right) + a = \frac{rt+1}{t-r} + a$$

$$\frac{13t-11}{t-r} \rightarrow f(x) = \frac{13x-11}{x-r} \checkmark$$

5.

$$f\left(x + \frac{1}{x}\right) = x^r + \frac{1}{x^r} \rightarrow x^r + \frac{1}{x^r} = t \rightarrow f(t) = t^r + \frac{1}{t^r}$$

$$f(x) = x^r + \frac{1}{x^r} = \left(x + \frac{1}{x}\right)^r - r\left(x + \frac{1}{x}\right)\left(\frac{1}{x}\right)\left(x + \frac{1}{x}\right)$$

$$x^r + \frac{1}{x^r} = t^r + \frac{1}{t^r} \checkmark$$

10.

$$g(f(x)) = 0$$

$$g(1) = 0$$

$$g(\sqrt{x}) = 0$$

$$\left. \begin{array}{l} g(f(x)) = 0 \\ g(1) = 0 \\ g(\sqrt{x}) = 0 \end{array} \right\} \rightarrow \begin{array}{l} f(x) = 1 \Rightarrow x\sqrt{x} \rightarrow x^r = 1 \Rightarrow x = 1 \checkmark \\ f(x) = \sqrt{x} \Rightarrow x\sqrt{x} \rightarrow x^r = \sqrt{x} \Rightarrow x = r \end{array}$$

$$x-1=1$$

15

20

25

30